8. (a) Distinguish between the following pairs.
3x2=6

I ICIR 1 MR ST o0 Mt ) Rl S 5 )

(i) Standard deviation and standard error of
mean.

W Rpfe =i sigome ome @b |

(i1) Arithmetic mean and geometric mean.

s sy e Trerele sgem)

(b) A student secured the marks in different
subjects as given below : 4

O Haz SSree (Bfey Rage we o=
TIETZE O 4{99 —

MIL English Mathematics
70 50 60
- Social Geography History
Science
80 40 60

From the above data, draw a pie diagram.
TAES SUTR A faq wawe e )
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for the questions.

Answer either in English or in Assamese.

1. A. Choose the correct option of any five of the

following : 1x5=5
wers AT ) it “Aisbie ws Tew At
Cferedt ¢ |

(a) The monosaccharide found only in milk is
called

GFIE ANATS (N 9% *F]R[Y o'
(i) Lactose
Y

(i) Fructose
e
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(iii) Galactose
(S

(i) Prolactin
AR

(iv) Glucose s .
(i1i) Epinephrine

* afsife
(b) One molecule of haemoglobin can carry

maximum how many oxygen molccules at a
time ? GRS

(iv) Serotonin

<51 fewafEs S Ore ANEcs i i
GiSre oy FOHAE AT ¢

(d) Lactation in mammal is related with the

(i) One hormone
Gt ? Ferfl oI il R e wite
(ii) Two | ESERIEE!
ot (i) Androgen
(ii1) Three GG (S
i ifj? (ii) Estrogen
QIS s

w (iii) Prolactin
¢) Which on lowi i
(c) e of the following is not 4 EE
neurotransmiter ?

O (PG FeTIEHRNOR = ¢ (iv) Follicle stimulating hormone
(i) Dopamin s Bty a9l
e
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(e) The number of ATP molecules generated
from a single glucose molecule in glycolysis
is
Azeezfer dfFwre o6 g weE o[ R
@& ATP 991 w134t 2

(i) One
<Gy
@ity Two
751
(iii) Three
fofaer
(iv) Four
BIfG1
(f) Simple lipid molecule do not have any ... .
W (FE WD ... AT |
(i) Amino acid
Of¥a’ «fow
(ii) Fatty acid
=6 «fee
(1ii) Glycerol
faiot=e
(iv) None of the above
8T OIS JE
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(g) An active enzyme is called ... .

9GB! HAfFT T ....... I @R T

(i) Apoenzyme -
GTAIGTEIZS

(ii) Co-enzyme
(PI~gweiay

(iii) Holoenzyme
EGRUBEE

- (iv) Ectoenzyme

GFGISEY

(h) Fndocrine cell of testis is

WP GUOIFEN @F TF

(i) Sertoli cell
HiofeT (P
(ii) Leydig cell
elfGel (i

(iii) Spermatogoniﬁm cell
TR A N (I

(iv) None of the above

@HFg OIS T
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B. Fill in the blanks of any five of the following :
1x5=5

were il T I SHobta WET ol o= w4 8

(€) B is an example of sweetless
carbohydrate.

......... O fRy o1 CIRMEN =T BwiEae |

(if) Cytochrome-C is found in ........ .
BIEHET-C — O (AR |

(iv) Antibody is secreted by ........ cell.
afez e ... IE Femet !

(v) Name of the protein present in Throm-
bocytes in blood that is responsible for
coagulation of blood is ...... .

T SO BT wYe 4TSI @
A eAbaReE N T

(vi) Pars intermedia of pituitary gland secrete
...... hormone.

fip251 223 oNiss ToRMEGT ww=E
....... Z={WH [ o)
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(vit)......... hormone is related with diabetes.
......... ESECEEERUING o S ed(CRRETOO)

(viii) The connection between the hypothala-
mus and pituitary gland is named as .....

Bgelley e (SRE5E affw Wiwe
AN SHF @ T

N2

Write short notes on any five of the following :
2x5=10

wed [ @i SpeiR Y Gt =g
(a) pH of a solution
«bl we" pH W=

(b) Ureotelic animal

RS GiEe eif

(¢) Feed-back regulation of hormone secre-
tion

T Fever Fo-@s Wame

(d) Harmonic mean

PRSI

(e) Chloride shift
FZC AT
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3.

(f) Co-enzyme
= BHd

(g) Neurohypophysis
ReT R TRy

(h) Role of bile in digestion
At fFars fore R g

(i) FMN (Flavin mono nucleotide)
Ffew w9 FeFtize |

What is digestion ? Mention the name of different
digestive enzymes secreted by pancreas and
describe their role in digestion. i+3+6=10

oAb glorcet & gt 2 wiNmE o/ WewlRe @Al
Rfen <lvs TR AN Bl ol GIRERT «Ava @y
el |

Or/ «izat

Describe the physiological process of digestion
and absorption of fat in man. 7+3=10

VPR (1S NI b SIS SReNEae i
e 49 |
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What is blood ? Describe the structure and
composition of human blood. Mention three
major functions of blood. 1+6+3=10
(TG & 2 A2 (TS M5 SF FYE I 0 |
(oo SR 2 o Srad |

Describe the mechanism of initiation and
conduction of nerve impulse through the neuron
with suitable diagram. 2+2+4+2=10
W83 (PIFS WY AT Beife wWiE wREES
WSS (R T @99 el Bag wmEs q w41 |

Define enzyme. Mention different classes of

enzymes with examples for each class.
' 1+6+3=10

Bep6H A 4l | Betsas (AdPTE Grmd 3 i
oTers (AT Swizae o |

Describe the structure and functions of endocrine
tissue of mammalian testis. 3+7=10
GUAIT T W GCSTHET BT o I
i 3l &1

Or/ «iga

Describe the physiological function of hormone
progesterone and estrogens inmammals.  5+5=10

IS W% La@tmﬁ WV BT AT TS
el “RTeIfdT FmEE I T4
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